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instructions to candidates

1 Write your name, éxaminaton number and school/centre in the spaces
provided on the question paper.

2 There are eight (8) questions in this paper. Answer any five (5)

questions.

Answer all questions n the spaces provided on the quesbon paper.

Write your answers clearly.

All essential working must be shown. Candidates will be penaized for

omitting essential working.

6 Tick (¢ ) the question you have atiempied in the grid provided below.

Questions |1 |2 |3 |4 5 |6 |7 |8 | Totalmarks

Tick :

Mark

information for candidates Zedpastpapers.com

Cell phones and caiculators are not allowed in the examination room.
DO NOT TURN THIS PAGE UNTIL YOU ARE TOLD TO DO SO

CECZTUT This guestion paper consists of 16 printed pages.
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1 (8)  Divide 10010, by 110, giving your answer in base two. [2)

(b) Nomsa has 4 red pens and 6 black pens in ber bag. She picks a pen
at random (rom the bag Find the probabality that it 1s black. 2]

() A sales agent is paid a salary of K3 000 00 and a commission of 2%
oa all his sales. Calculate his income for & particular month he sold
goods worth K40 000.00. 3]
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(d) A pressing iron is valued at K115.00 inclusive of Value Added
Tax (VAT) Given that VAT o charged ait 15%, calculaie the cost
of the pressing wwon before VAT, 3]

[Total: 10]
1 im) The tax free allowance for Mr Ndalama s K3 300 00 and he pays income

tax st the rate of 30 on the balance of his salary. Calculste the net pay
for Mr Ndalama if his monthly salary = K5 500 00, (3]
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[Total: 18]
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3 (a) The srow diagram below represents a relaton from sel A o st B
A [ ]

N —»— 73
| T W _——
14— —13

2 > 2
() IfzeA and yeB, write the formula for the relation. 2]
(i)  Find the value of y when x = 5. 2]

M) Chew bought a car 3t K40 000 00 If & depreciasted wang the straight
line method at 20% per year, calculate s value afier 3 years. (3]
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() Inthe diagram below, nangles ABE and ACD are sumlar.

. im
A " m

Grven that BC = Scm, CD = 9%cm and BE = 6cm. calculate the length
of AR, (3]
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4 (8) GiventhatF - (1,23, 4.5.67,59.10, 11,12}, X~ (3,69, 12),
Y=LV 4 e)ad? [1,.),5.70.9.11}.
1] illustrate this mformaton i the Venn duagram below . 2]
L3 % .
A
(i) st the clements of the set (X o Y W ZV. 21
(b) Solve the incquaton 4g - 2 < g + 3) 3]
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(© uimu--?ﬂ'.mrhmﬂum (3)
-r
[Totsl: 10]
5 (a) White 2 736 4 m standard form correct 1o 3 significant figures. 121
(b) Solve the equation 32 - y) =y - 14 21

Zedpastpapers.com

goto zedpastpapers.com for more



Page 10 af 16

(e}  The dagram below shows a cylinder with dissneicy Tom and beighi
10cm {Tahe 2 s gi

i:._._"u_r_iIh

l

Calculate its volume: 3]

fd)  The wbic below shows the mass of a chald over & ponad of ua months.

[ Month “u—-{irm' [ March | Apnl | May | Jume
— i — r—-——---— — = may w o —mnf e m mem e = -
|(Mass(kg)| 12 8 16 14 16 | 18 |
Complcte the line graph below o ilustrate thss information. 31
|
il 4 1
".-—-'—1-——|—| ]—-
=L .,,_._.__r_ _T I

12
O i e
j _.,.-4_... 1—1-*

st d b
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6 () Smplify 32x-5)-Tx+19. 2]

(b)  In the diagram below, KM = ML, angle MKL = (1 - 65)" and angle

MLK = (2 - 20)°.
L |
.' - ~ L=
Fmnd the valee of @
2]
zedpastpapers.com
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(€}  The figure below shows 2 trangular prism PORSTU.

Conven that US = 17cm. PQ - Scm, QR = 15%cm and SR = Xicm,
cakculate ity total surface area 31
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(d)  Sobve the umultancous cquations 3
x-2r=1},
2+ 3y=0
[Total: 18]
7 (a) Onihe XOY plane below,
M  phot the pounts P(1, 1), Q3. 4) and R(S, 1), 21
(i) jown the poots 10 form tangle POR, n
(i) doawthe graphols=6 i
== 5
r ]
-
3 1
*
=Ll L Zedpastpapers.com
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()  Multiply 130, by 21 4., giving your answer in base five. 3]

icl Girven the density (D) of a stone and its mass (M), complete the flow
chan below for calculating and desplaying its volume (1) 13)

@
/I/

[Total: 10]
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(») A carin Japan is valued st $4 500, What is its cost in Kwacha if
the mte of exchange is $1 = K9.807 3

(b)  Kalowe is paid at the rate of K32.00 per hour for a $0-hour week.
If overtime 15 paid at the rate of “ume and a half =, cakeulste his 1otal
wage n & woek in which he worked for 45 hours. 31
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(€)  The frequency table below shows the pumber of lcamers m each of the
classes 9A. 98, 9C and 9D 21 Kamwrya Secondary School

Class | oA | 8 [ oc | o |
Numberofboys | x | 20 | 20 | 15
Number of gris | 30 2 | o | 2

) Complcte the compound bar chant below o ilhastrate this
nformaton 3

() Findthe valucof x 1)
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